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DELHI PUBLIC SCHOOL, BHILAI

DATE : 24.09.2021 MID TERM EXAMINATION (2021-22) Time : 2 Hours
CLASS : 1X SUBIJECT : ARTIFICIAL INTELLIGENCE Max. Marks : 50

......................................................

General Instructions :
1) Question paper consists of two sections, Part A and PartB
2) Part A consists of Objective type questions of 20 marks.
3) PartB consists of Subjective type questions of 30 marks.

--------------------------------------

...................................................................

.................................................................................................................

is the one who decodes or interprets the message.
- 2) to othersis a very important aspect of effective communication.
3) The most significant advantage of oral communication is that it provides immediate
4) communication is the most formal form of communication.
5) Our —also serve as a caution and help up to protect ourselves from the dangerous
situations. :

B. State True/ False

1) Toneis an example of non-verbal communication.

2) Data science is one of the sub-fields of Artificial Intelligence.
3) Smart buildings can assist in post disaster rescue operation.
4) Goal setting involves identification of reason for problems.
5) Deployment is not the final stage of Al Project Cycle.

C. Choose the correct option

1x5=5

1x10=10
1. A group &f words that makes complete sense is called 3 ?
a)Phrase  b) Sentence ¢) Subject d) Predicate

2. A message should be to convey the right meaning to others?
a)Difficult  b) Complex ¢) Clear d) Coded

3. Which of the following is NOT one of the Vs of Big Data?
a)Verifiability b) Volume c) Velocity d) Variety

4. contains both location and time information?
a) Machine data b) Time st amped data ¢) Spatiotemporal data d) Spatial data

5. Which of the following sources contains data regarding highef education institutions in India.
a)IMF b) Google Scholars ¢)Open Library d) AISHE

6. Which of the following is NOT a part of Evaluation and Deployment stage?
a)Project resting b) Project modelling ¢) System modification d) None

7. Sustainable Development Goal 13 deals with
a) Climate Change b) Communities c) Water d) Energy

8. Which @mong the following is the pioneer of the Al research?.
a)Goggle  b) Facebook ¢) US Department of Defence d) None

9. Which. of the following is/are domains of artificial intelligence?
a)Dala b) Neural networks c) Computer Vision d) All of these

10. Weak Al systems
a)Mimic intelligent behaviour b) Can understand emotions ¢) Cannot handle Big Data d) None

Part - B
Answer the following Questions

1. What are the features of effective communication ?

- What is the sigrificance of visual communications ?

3. Why is big dataa normally unstructured in nature?

- Why does Al project cycle often become cyclic in nature ?

- What is SDG; ? Describe any two.

- What are the Three(3) domains of Al ? Describe briefly.

- What are decision tress? How are they created ?

. What are the uses of Computer Vision ?

- What any five(s) advantages of smart cities ?

10. List any five(5) smart devices that can make your house smarter. Give reasons for their selection.
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DELHI PUBLIC SCHOOL, BHILAI

DATE :20.09.2021  MID TERM EXAMINATION (2021-22)  Time : 3 Hours - ’
CLASS : IX SUBJECT - SCIENCE Max. Marks : 80
General Instructions:
(i) The question paper comprises THREE sections A, B and C. There are 36-questions in the
question paper. All questions are compulsory.
(ii) Section—A PHYSICS (27) question no. 1 ta 13,

Section-B CHEMISTRY (26) question no.14 to 24,
Section~C BIOLOGY (27) question no. 25 to 36.

(iii) Marks on each question have been mentioned against it. All 1 mark qguestions contain
multiple choice questions (MCQs), very short answer questions and assertion - reason type
questions. Answers to these should be given in one word or one sentence. All questions carrying
2 and 3 marks are short answer type questions. All questions carrying 5 marks are long answer
type questions. .

(vi) There is no overall choice. However, internal choices have been provided in some questions. A
student has to attempt only one of the alternatives in such questions.

(vii}) Wherever necessary, neat and properly labelled diagrams should be drawn.

(viii) For the questions based on assertion and reasoning question two statements are given
one labelled Assertion (A) and the other labelled Reason (R). Select the correct answer to
these questions from the codes (2), (b), (c) and (d) as given below :

{a) Both Aand R are true, and R is correct explanation of the assertion.

(b} Both A and R are true, but R is not the correct explanation of the assertion.
(c) Aistrue, but R is false.

(d} Ais false, but R is true.

SECTION : A - PHYSICS (27 Marks)

Q.1  Which Newton’s Law a) measures the force b) tells the nature of force? (1)
Q.2 When a moving bus stops suddenly then passengers inside the bus jerk forward. Why? (1)
OR
When a moving car takes 3 sharp turn then the persons inside the car are thrown outward.
Why ? (1)

Q.3 Why'is uniform circular motion of a body, said to be an accelerated motion ?
Q.4  Aparticle moves 3 m due North then 4m due East and finally 6m due South. Calculate the
displacement of the particle. (1)
OR

A body completes one round of a circular path of radius 21 m. What is the Distance and
Displacement of the body?

Q.5 Ifaction and reaction forces are equal and opposite then why don’t they cancel each other?
(1)
Q.6  Write one point of difference between average speed and average velocity. (1)
Q.7  Assertion: A gun when fires a bullet, it recoils.
Reason : Newton’s third law states that every action has equal and opposite reaction. (1)
(Refer to general instruction no. viii.}
Q.8 Consider the example of cricketer catching a ball.
The cricketer lowers his hands while catching the ball. If the hands are held stiff and the ball
Jis tried to be caught instantly, the person has to experience a greater force to stop the ball in
his hands and in the process he may get hurt also. Thus effect of force experienced also
depends on how fast or slow the momentum of the body changes.
Now Answer the following Questions based on the text (Any four) (4x1=4)
Q8 (i) Above statement refers to which Newton’s Law of motion-
(a) First (b)Second (c)Third (d) None of these
Q8 (i) If change in momentum is taking place faster then effect of force will be-
(a) larger (b) lesser  (c)cannotsay (d) None of these
Q8 (iii) What is the S! unit of rate of change of momentum-
(a) Kgm/s (b) m/s® (c) newton (d) None of these
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Q8 (iv) The cricketer lowers his hands while catching a ball

(a) to delay change in momentum (b) to make change in momentum faster
(c) can not say (d) none of these.
Q8 (v) Karate players can break a pile of tiles in a single blow, as they -
(a) delay the change in momentum (b) prompt the change in momentum
(c) both a) & b) (d) None of these

Q.9  The Velocity-time Graph drawn below shows the motion four different bodies A, B, CandD

on the same axes. (4x1=4)
DN\
Vel
(v) \
7

Time (1)

=

Study the each kind of graph carefully and Answer the following questions : (Any four)
QS (i)  Which graph shows the body at rest-

(a) A (b) B (c) C (d) None of these
Q8 (ii) In which case, Area under the graph shows distance travelled—

(a) AandB  (b) BandC (c) A,CandB (d) AllA,B,Cand D
Q 9 (iii) Which graph represents the motion of uniform retardation—

(a) A (b) B (c)C (d) D

Q9 (iv) The Graph C represents-
(a) uniform velocity (b) uniform acceleration (c) uniform retardation (d)None of these
Q9 (v} What type of motion is described by D-

(a) non-uniform retardation (b) uniform velocity (c) uniform retardation (d) None of these

Q.10 A bullet moving with 10 m/s hits the wooden plank .The bullet stops after penetrating the
plank 2cm deep calculate the retardation of the bullet. (2)
OR
Atrain is travelling with velocity 72 km/h. The brakes are applied to retard the motion of
the train uniformly. If the train is stopped after 50 m from the place where brakes were
applied, find the retardation of the train.

Q.11 When a man jumps on the bank of river from a boat then boat moves backward. Why?
Explain. (2)

OR
Why is it easier to jump over a heap of sand than to jump over a hard floor from same
height? Explain.

Q.12 Derive the second equation § = ut + ; at? of motion graphically, where symbols have
their usual meanings. (3)

Q.13(a) State and Prove the Law of conservation of momentum. (5)

(b) A Truck of mass 6000kg moving with a velocity of 20m/s hits a car of mass 1000 kg moving

with velocity of 5 m/s along the same direction. Find velocity of the car if the truck moves
with velocity of 10m/s after collision.

OR
(a) Show that Newton's first law is contained in Newton’s second law of motion
{(b) A force of 12 N produces an acceleration of 4m/s® in a body A and 6 m/s?in another body
B. If both the bodies are tied together and a force of 5 N is applied what will be the
acceleration, calculate it.
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SECTION : B - CHEMISTRY (26 Marks)
Q.14  Which of the following will show Tyndall effect? (1)
(a) Salt solution, (b) Milk, (c) Sugar solution, (d) Starch solution.
Q.15 Whatis the boiling point of Nitrogen in celciys Scale?
(a) - 196, (b) - 186, (c) - 183, (d) none of these. (1)
g does not undergo sublimation? (1)
Ammonium chloride, (c) lodine, (d) Water.
A saturated solution becomes Unsaturated upon heating.

More of solyute dissolves in the solvent upon heating.
Q.18 The table given below shows no. of grams of five differ

solvents - water, alcohol and chloroform (

(a) Camphor, (b}
Q.17 Assertion :-
Reason -

(1)
ent solids dissolving in 100 g of the

all at 20 degree Celsius).
Solvent Salt Sugar lodine  Chalk Urea
Water 36.0 204.0 0.6 0.0 100.0
~ Alcohol 0.0 0.0 20.0 0.0 16.0
Chloroform 0.0 0.0 3.0 0.0 0.0
Now answer any four questions from

the following MCQs :- (4x1 = 2)
(1) Which solid dissolves best in water?

(a) salt, (b) Sugar, (c) iodine, (d) chalk.
() Which solid is maximum soluble
(a) Salt, (b) sugar, (c) iodine, (d) none of these.
(IM) How much urea is soluble in water at this temperature?

(a) 100.0 g, (b) 36.0 g (c) 16.0 g, (d) none of these,
(IV) Which solid is insoluble in all the three Solvents?

(a) lodine, (b) Chalk, (c) Sugar, (d) Salt.

{V) Which solid dissolves the most inall th

(a) Chalk, (b) Sugar, {c) lodine, (d)

Q19 Name the technigue to separate (a)

' OR

Classify the following as physical or chemical changes
(a) Melting of butter, (b) Rusting of iron.

To make a saturated solution, 36 g of com

Find its concentration at this temperatuyre,

Q.21 What are alloys? Write the composition of the alloy "Brass" What are the percentages of

OXygen and nitrogen by volume in air? (3)

OR -

Why is Crystallisation te

Write any one applicati

Q.22 Calculate the Masses of sugar and water required to prepare 350 gof30
in water,

in alcohol?

e three Solvents?
none of these.

Camphor from salt, (b) Cream from milk. (2}

mon salt is dissolved in 100 g of water at 293 K.
(2)

chnigue better than simple €vaporation?

(Any 2 reasons)
on of crystallisation technique.

% solution of sugar

(3)

Q.23 Write two differences between homogeneous and heterogeneouys mixtures with one

example each. (3)

Q.24 (a) Write two examples of Aerosg| type colloidal solution where g liquid is dispersed in 3 gas
(b) Differentiate between sol solution and sys

a mixture containing acetone and water
in their boiling points is more than 25 k)

(c) Write any two applications of Chr

(difference
which are miscible with each other,
Omatography.
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SECTION : C - BIOLOGY (27 Marks)
Q.25 Walls of small intestine absorh digested food. Which type of epithelial cells are responsible
for that? ' (1)
Q.26 Name the chemical substance deposited in the walls of Sclerenchyma. (1)
OR
Many of the tissues in plants are dead. Do they perform any function? Explain
Q.27 On what basis meristematic tissue s classified? Name the type responsible for increase in
girth of stem., (1)
Q.28 What is endocytosis? (1)
OR '

What is Plasma Membrane made up of?
Q.29 Assertion-Viruses lack membrane,
| Reason- Viruses do not show charact

eristics of life until they enter a livin
Q.30 New cells are formed in living organis

g body. (1)

made is called cell division. (4)

Answer any four of the following

(i) Name the two main types of cell division.

(i) The cell organelle that controls the
(a) Ribosome (b) Nucleus

(iii) The process that brings about grow
(a) Mitosis (b) Amitosis

(iv) Cell division in reproductive organs result in the formation of-
(a) New cells with same chromosome numbers

(b) New cells with double chromosome numbers
(c) Gametes

1» (d) None of the above
E (v) Which of the following statements is true-

(a) All cellsin an organism divide by the process of mitosis

: (b) All cells in an organism divide by the process of meiosis
i (c) Cell division occurs in al| plant cells

(d) Cell division occurs in living cells only

| Q.31 How does the nucleus present in plant cell differ from that in Bacteria? Explain, (2)
OR

i ich ki ill you find in the following- root, leaf

process of cell division is-

(c) Chloroplast (d) Endoplasmic Reticulum
thin an organism is-

(c) Meiosis (d) Gamete Formation

, flower, young green stem of
Q.32

“Water hyacinth floats on water surface”, Explain, (2)
OR

! Name the basic packing tissue present in plants. Mention its functions also.

t Q.33 Identify the type of tissue in the following-

(i) Bark of tree (ii) Skin (iii) Lining of kidney tubule (iv)
(v) Lining of blood vessels (vi) Transport water in plants
OR

“Desert plants are adapted to hot climate”, Explain in detaj| the role of epidermis in these
plants.

(3)

Lining of respiratory tract

Q.34 (i) Whyis Plasma membrane called sel
(i) Explain what will happen when-
(a) Raisins are kept in distilled water
(b) Rheo leaves are boiled in water and then few dr

ectively permeable membrane?

(3)

eticulum important for membrane bio-genesis?

Q.36 Draw a labelled diagram of a section of Phloem. Name it’s four elements. With respect to
conduction, differentiate between Xylem and Phloem.

(5)

OR

gram showing section of Collench

function of this tissue (two each).
B33 o™

Draw a neat and labelled dia

yma. Give general
characteristics, location and




DELHI PUBLIC SCHOOL, BHILAI

DATE : 22.09 .2021 MID TERM EXAMINATION (2021-22) Time : 3 Hours
CLASS : IX SUBJECT : ENGLISH LANGUAGE & LITERATURE  \iax. Marks : 80

General Instructions

1.
2

3.

This paper is divided into two parts: A and B. All questions are compulsory.
Separate instructions are given with each section and question, wherever necessary.

Read these instructions very carefully and follow them.
Do not exceed the prescribed word limit while answering the questions.

PART —~ A (40 Marks)
READING (20 Marks)

On the basis of your understanding of the passage answer the questions that follow:

1.

1x 10=10
The Walt Disney Company became the first major media company to ban ads for candy bars

and junk food on its television channels, radio stations and websites, to stop food

- manufacturers from peddling nutritionally challenged fattening junk for kids. The ban

covers foods with too much sugar, too much salt or a full meal more than 600 calories.
Predictably, the outraged public said that - banning smoking in public places and artery —-
blocking trans fats in food was bad enough, but stopping them from guzzling comfort drinks
by the litres was almost a human rights violation.

It seems most people are not just happy choosing their own poison. They also want it in
super sized doses guaranteed to kill sooner than later, for after tobacco use, obesity is the
biggest public health bugbear that triggers more avoidable diseases and death than
malnutrition. Overweight and obesity are the leading risks for global deaths, killing 2.8
million adults each year. Worldwide obesity has more than doubled since 1980. The reasons
for poor lifestyle choices are many; with almost all driven by socio-economic causes such as
low education and limited income. Like killer infections, obesity and the resultant type 2
diabetes, affect the poor more than the affluent, largely because processed and fast food
are cheaper and take less or no time to prepare than healthy home-cooked meals.

Limiting food choices, however, is not enough. The need is to get children off their chairs
and into the playgrounds. Too much screen time, social- networking, followed by online
and video gaming and television are making healthy children fat and putting them at risk of
type-2 diabetes in the second decade of their lives, The life style disease that interferes with

the way the body metabolizes glucose typically affects people in their fifties and sixties and
is linked with a host of complications.

The official measure of obesity in adults is body mass index (BMI) which is calculated by
dividing a person’s weight in kilograms by the square of his height in metres (Kg/m?). The
WHO definition is : a BMI greater than or equal to 25 is overweight, 30 is obesity but the cut-
offs for the South Asians are 23 for overweight and 25 for obesity.

(i) The products banned by Walt Disney include- _
() candy bars  (ll) tobacco (1) salads (IV) milk products

{a) Onlyl (b) Tandlil (c) tand i (d) land IV
(ii) Which one of the following was considered a human rights violation by the outraged
' public?

{a) Banning smoking in public places.
(b) Throwing litter on the road.
{c) To stop people from drinking comfort drinks.
{(d) Using mobile phones while driving.

(ili) Worldwide obesity has more than doubled since —
(a) 1980 (b) 1985 (c) 1990 (d) 2000

(iv) Obesity results from

(a) too much screen time (b) online and video gaming (c) junk food (d) All of these
Contd...2
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(v} Which lifestyle disease interferes with the way the body metabolizes glucose ?
(a) High Blood Pressure  (b) Stress (c) Type-1 Diabetes (d) Type-Il Diabetes
{vi) Obesity affects more than affluent. .
| (a) the middle class (b) the educated  (c) the poor {d) the sick
| (vii) What are the leading causes of global deaths?
(a) Tobacco and liquor (b) Tobacco and obesity
(c) Liquor and smoking (d) Smoking and drinking
(viii) Which of the following will be the most appropriate title of the passage?
(a) The Fast Killer- Fast Food (b) How Far Wiil Obesity Spread?
(c) Walt Disney Decision (d) The Food Choice — An International Killer.

(ix) Why are processed and fast food harmful for our bodies ?
(a) Because they take very little time to prepare.
(b) Because they are easily available.
{c) Because they are extremely healthy.
(d) Because they are prepared in unhygienic conditions.

(x) Choose the option that correctly states the two meanings of ‘Triggers’ as used in the

passage.
1. Spring 2. Catch 3. To set off
4. To activate 5. Togoonatrip 6. Toswitch off

{a}1and 2 b)3and4 c)5and 6 d)land4
2. Read the passage given below .

1. Till a few months ago, teachers and students never thought that they would be exposed to
the virtual world. The pandemic made educators realise the need for integrating
technology into teaching. As a result, many educational institutions shifted their base to
online platforms, and teachers were asked to upskill themselves.

2. Most teachers were not prepared, as they did not have basic training in online education.
Fortunately, they have accepted the challenge and adapted themselves to the new
normal. In many cases, these skills are taught to teachers by students. Teachers have
become learners in order to become better teachers. What a paradigm shift!

3. Great teachers are constant learners. They believe that, in order to be effective in the
classroom, they must unlearn obsolete ideas and concepts, and learn what is useful and
relevant to society. One of the challenges the pandemic has thrown up is to remain
relevant and to cater to the needs of Gen-Z students who are tech-savvy and expect
everything in the digital format.

4. The pandemic has helped many teachers realise their potential and become creative. Many
have experimented with new methods of teaching and assessing students’ knowledge.
They have gained confidence and produced interesting and relevant online teaching
material and videos.

st
5. In the 21 century classroom, students should be treated as co-creators of knowledge.
Students with the help of search engines, can gather information, but it is the teachers’
responsibility to help them convert information into knowledge.

6. Teachers need to learn how to use their digital literacy creatively. Upskiiling is a process.
An effective teacher, in the 215% century, is one who is ready to learn, unlearn and relearn.

On the basis of your understanding of the passage answer the questions that follow: (1x10=10)

(i) The ‘pandemic’ mentioned in the 15t para refers to -
(a) SARS (b) Bird Flu (c) Dengue {(d) Covid-19
(i) The ‘virtual world “ in the passage means —
(a) the internet world (b) the social world
(c) the world of artificial intelligence (d) the modern world
(iii) wWhy were most teachers not prepared to teach online?
(a) They did not have an internet connection. (b) They did not have smart phones.
(c) They did not know how to teach online. (d)They feared that it may strain their eyes.
Contd...3
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(iv) In order to become better teachers, have to become

(a) students, learners (b) students, teachers

(c) teachers, students (d) teachers, learners
(v} Who are tech-savy and want everything in the digital format?

(a) Gen-X students (b) Gen-Z students (c) Gen-Y students (d) Gen-Z teaches
(vi) How should the students be treated in the 215t century?

(a) As co-learners of knowledge. (b} As co-teachers.

{c) As co-creators of knowledge. (d) As co-creators of videos.
(vii) What is required to become effective in the classroom ?

(a) Flexibility (b) Open-mindedness (c) Experimentation (d) All of *hese
(viii) Online education has the roles of teachers and students.
(a) swapped (b) degraded (c) contrasted (d) ruined
(ix) The process advertised in the given passage is
(a) netiquette  (b) online literacy (c) upskilling (d) artificial intelligence
(x}  What should be the responsibility of a teacher in the given si‘tuation ?
(a) Toimprove teaching through creativity.
(b) To convert information into knowledge.
(c) To help children in navigating through gadgets.
(d) To help the children in using social networking sites.

LITERATURE (10 Marks)
3 Read the extracts given below and attempt ANY ONE by answering the questions
that follow. (5x1)
(A) It was a very old book. Margie’s grandfather once said that when he was a little boy his
grandfather told him that there was a time when stories were printed on paper. They
turned the pages, which were yellow and crinkly, and it was awfully funny to read words
that stood still instead of moving the way they were supposed to —on a screen, you know.
(i) Who found the old book ?
(a) Margie (b) Margie’s grandfather (c) Tommy (d) Tommy’s grandfather
(ii) Where was the book found?
‘(a) In the attic of Margie’s house. (b) In the basement of Tommy’s; house.
(c) In the drawing room of Tommy’s house. (d) In the attic of Tommy's house.

(iii) Pick the option that correctly classifies fact/s (F) and opinion/s (0)

o

i e

of the student.s helow.

e B s Mk

(8) F-12and 0-3,4 (b)F-2,3,4and 0-1 (c) F-2,4and 0-1,3 (d) F-3and O-1,2,4

(iv) Margie was surprised to see the book because
(a) she liked to read books. (b} all the stories in it were printed on paper.

(c) it was an old book . (d) it had beautiful pictures in it.
(v) Which word does ‘awfully * NOT correspond to ?
(a) Immensely (b) Terribly (¢} Magnificent (d) Dreadfully
OR

(B) “So the swallow plucked out the Prince’s eye, and flew away to the young man’s garret,
It was easy enough to get in, as there was a hole in the roof. Through this he darted, and
came into the room. The young man had his head buried in his hands, so he dicf not
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hear the flutter of the bird’s wings, and when he looked up he found the beautiful
sapphire lying on the withered violets.”
(i) Why did the swallow take out the sapphire from the Prince’s eye?
(a) Because he liked it. (b) Because he thought something to be eaten.
(c) Because the Princess asked him to do so. {d) Because the Prince asked him to do so.

(ii) The ‘young man’ wasa -
(a) chemist (b) dentist (c) playwright (d) prince
(iii) Why did the young man not hear the flutter of the bird’s wings ?
(a) Because he was deaf. ‘ ‘
(b) Because he was asleep.
{c) Because he was busy in doing his work.
(d) Because he had his head buried in his hands.
(iv) ‘Withered’ in the extract means-
(a) fresh (b) soft (c) dry (d) blooming
(v) Choose the answer that lists the correct option displaying the person who was
helped by the swallow and the Happy Prince. '

i

(a) Option (1) (b) Option (2) (c) Option (3) (d) Option (4)
4. Read the extract given below and answer the questions that follow: (5%1)
Where they harness the swift reindeer ' | |
To the sledges, when it snows;
And the children look like bear’s cubs
in their funny, furry clothes:

They tell them a curious story
— | don't believe tis true;

And yet you may learn a lesson
If 1 tell the tale to you.

(i) The poem in the extractisa
(a) Sonnet  (b) Ballad  (c) FreeVerse  (d) Ode
(i) Name of the poet of this poem is —
(a) Robert Frost (b} William Blake (c) Phoebe Cary (d) Coates Kinney

(iii) The poet calls the tale curious because
(a) it is imaginative. (b) he does not believe in it.

| (c) it is just to teach the students against greed . (d) it doesn’t teach any lesson.
(iv) The poetic device used in the third line of the extractis—
(a) anaphora (b) simile (c) metaphor (d) transferred epithet
(v) The literary device used in the fourth line of the extractis -
(a) simile  (b) metaphor (c) allusion (d) alliteration
GRAMMAR (10 Marks)
5. Choose the correct options to fill in the blanks to complete the following: (3x1)
Scientists (i) novel skin sensors that allow mobile devices to be controlled from
any point of the body. This advance (i) because such sensors cannot measure
touches (iii). enough, nor will they capture the rnultiple fingertips simultaneously.
(i) (a)has developed (b) have developed (c) had been developed (d) will be developing,
(i) (a) will be challenging (b) was challenging (c) isa challenge (d) had challenged

(iif) (a) precision (b) with precision  (c) precisely (d) preciseness
Contd...5
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6. Complete the dialogue between you and your teacher about which course to study

during vacations. (3x1)

Child © : Good Morning Sir, how are you?

Teacher : | am completely fine. What about you?

Child : | was wondering (i) in my vacations.

Teacher : It can be confusing with so many options online. (ii) and
narrow it down as per your interest.

Child : I have tried that but still | am left with three options — Artificial

Intelligence, Machine learning or Data science.
Teacher : Welll All of them are very interesting course, but as fas as | remember {iii)

{i) {a) which course to learning (b) which course to earn
(c) which course for learning (d) which course to learnt

(ii) (a) You will make a list (b) You would make a list
{¢) You are make a list {d) You should make a list

(iii) (2) you has always been interested in Artificial Intelligence
- (b) you have always been interested in Artificial intelligence
(c) you had always been interested in Artificial Intelligence
{d) you will always been interested in Artificial Intelligence :
7. Read the following conversation and complete the passage given below: (4x1)

Chetan : How was your first day in school ?

Nikhil : It was boring.

Chetan : |thought you would like your new school.

Nikhil : The teacher did not give us any free period today.

Chetan : Don’t worry. We will have fun now.
Chetan asked Nikhil about his first day in school. Nitin replied that (i) . Chetan
said that (ii) new school. Nikhil told Chetan that the teacher (iii)

Nikhil said that he need not worry and added that (iv) .

(i) (a) it has been boring. (b) it was boring. (c)itis boring. (d) it had been boring .
(i) (a) he has thought he will like his (b) he had thought he would like his

(c) he had been thinking he would like his  {d) he thought he would like his
(iii) (a) has not given them any free period today.

(b) had not given them any free period today.

(c) has not given them any free period that day .

(d) had not given them any free period that day.

(iv) (a) they will have fun now (b) they would have fun now

(c} they would have fun then (d} they will have fun then

PART - B (40 Marks)
WRITING (2x5=10 Marks)

8. Attempt ANY ONE of the following: (5 Marks)
(A) Write a descriptive paragraph on the prsonality shown in the picture below in 100-120 words.

{B) Taking the help of the clues given below, write a descriptive paragraph about A.R. Rahman.
e Indian composer, singer, songwriter, music producer, musician and philanthropist
e Born in Chennai on 6 January 1967
e Graduated from Trinity College, Oxford University

e Famous integrating Indian classical music with Electronic music, world music and
traditional orchestral arrangements

Contd...6
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Recipient of Padmashree and Padma Vibhushan awards

Two Oscars and a Golden Globe

Noted humanitarian and a philanthropist

Donates and raises money for a number of causes and charities

9. Attempt ANY ONE of the following : (5 Marks)

(A) Compilete the story in 100 -120 words which begins as follows:
On a quiet and peaceful night, | was studying late to prepare for t'he science exam for
| the next day. Suddenly, someone rang the bell ...
| OR
‘ (B) Given below are some clues. Based on these clues develop a short story in 100-120
‘ words.
i Thief entered — Mr. Agarwal unaware about the identity of the thief — thanked to give
company — birthday — gave him good food and drinks — gave & purse full of silver coins — years

passed by — fortunes changed — Agarwal’s business was ruined — he became poor — 50th
birthday — alone — no food — no drinks — bell rang —a man emerged — recognized the old thief —
came with fruits, sweets and drinks and a bag full of money.

LITERATURE (30 Marks)
10. Answer ANY TWO questions in 20-30 words each, from (A) and (B) respectively. (2X4=8)
(A) (any two) (2x2=4)
(i) In the poem ‘The Road not Taken’, did the poet regret over the decision? Quote an
example to support your point.
(ii) Why does Evelyn remove her shoes on the wooden platform ?
(iii) In the poem ‘Wind ‘, how does the poet intend to cope with the power of the wind ?
: (B) (any two) (2x2=4) ‘
E (i) In the story ‘The Lost Child’, who came to the child’s rescue? What did he do to pacify
him?
(i) How did Toto nearly manage to boil himself alive ?
! (iii) Why did the Guru want that he and his disciple should die first ?
11. Answer ANY TWO questions in 40-50 words each, from (A} and (B) respectively. (3x4=12)
! (A) (any two) (3x2=6)
(i) Did Kezia ever forget the incident of caning? How was Kezia punished for tearing some
important papers of her father? '
(i) Why did Einstein leave school for good?
| (iii) Why does the poet remember his mother in the poem ‘Rain on the Roof’? What
qualities of the mother he wishes to emulate?
(B) (any two) (3x2=6)
(i} Why did Town Councillors decide to pull down the statue of the ‘Happy Prince’?
(i) Would you agree/disagree that the subjects of the kingdom of fools were really
foolish?
(iii) What did Toto do to invite the wrath of the ticket - collector? How did Grandfather
manage the situation?
12. Answer ANY ONE of the following in 100-120 words. ' (5x1)
(A) APJ Abdul Kalam is a man of values which he learnt from his family. Describe the benign
and liberal influence of parents, friends and teachers in shaping Kalam’s personality.
OR
{B) ‘Cruel and harsh attitude is not enough to inculcate values and discipline among the
children.” Justify this statement in context of the lesson ‘The Litkle Girl’.

13. Answer ANY ONE of the following in 100-120 words. (5x1)
(A) “Toto was not the sort of pet we could keep for long.” Explain giving examples from
the text.
OR

(B) ‘The living beings always think that gold can make one happy.’Is this statement true?
Why/Why not? Justify your answer with reference to the story ‘The Happy Prince’.
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DELHI PUBLIC SCHOOL, BHILAI

DATE :17.09.2021  MID TERM EXAMINATION (2021-22) Time : 3 Hours
CLASS : IX SUB. —SOCIAL SCIENCE Max. Marks : 80

General Instruction :

» Question paper comprises 3 sections — A, B, and C. There 35 guestions in the guestion
paper. All questions are compulsory. Marks are indicaled against each question.
Section A is History and Civics of 40 marks.
Section B is Geography of 20 marks.
Section C is Economics of 20 marks.
Objective type questions should be answered as directed.
Answer to 3 marks question should not exceed 80 words each.
Answer to 5 marks question should not exceed 120 waords each.
Source based questions should be answered as directed.
Map work should be done as directed in guestion.

YVVVYY

SECTION : A - HISTORY & CIVICS (40 MARKS)

Q.01 What was the main objective of the Constitution of 179

Q.02 The tax called tithe was collected from French Peasants by

(a) The Churcl (b) The emperor (¢) The Nobles(d) Chief of the Army

(1)
(1)

Q.03 Study the picture and answer the question that [ollows; (1)

Q.04
Q.08

Q.06

Which of the follawing options is true with respect to the above picture?
() This is about »The Declaration of the Rights of Man and Citizen™.
(b} This is aboui “Storming of the Bastille™,

(¢) This is about “Liberty Leading the People’,

(d) None of these.

A broken chain symbolized as .

(1)
(1)

Correct the foflowing statement and rewrite:
Democracy is better than other for

'ms of government becausc it allows us to correct other's
mistakes. ' ' '

o OR
Democracy enhances the inequality among citizens.
All of us should behave as if we are members of the same |

fumily. No one should treat a fellow
cihizen as inferior. This defines a word given in Preamble of our Constitution which is o (D)
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Q.07 The word ‘Democracy’ comes from the Greek word — Y]
(a) Democracia (b) Demokratia (c)Demos  (d) Kratia

| : OR

\

Ll e is an introductory statement in a constitution which states the reasons and guiding values
of the constitution

Q.08 The Indian Constitution came into effect on ................. : 1)
, OR
Who was the Chairmen of the drafting committee of Indian Constitution?
Q.09 Trace the event which led to the fall of Bastille. 3
OR

| Describe how abolition of slavery became possible in France.

Q.10 A Read the sources given below and answer the questions that follow: (1x3=3)

Source A : The Abolition of Slavery

One of the most revolutionary social reforms of the Jacobin regime was the abolition of slavery in
the French colonies. The slave trade began in the seventeenth century. French merchants sailed from
the ports of Bordeaux or Nantes to the African coast, where they bought slaves from local chieftains.
Branded and shackled, the slaves were packed tightly into ships for the three-month-long voyage
across the Atlantic to the Caribbean. There they were sold to plantation owners. The exploitation of
slave labour made it possible to meet the growing demand in Buropean markets for sugar, coffee,
and indigo. Port cities like Bordeaux and Nantes owed their economic prospetity to the flourishing
slave trade.

Source B : Did Women have a Revolution?
From the very beginning, women were active participants in the events which brought about so
many important changes in French society. Most women of the third estate had to work for a living.
They worked as seamstresses or laundresses, sold flowers, fruits and vegetables at the market, or
were employed as domestic servants in the houses of prosperous people. Most women did not have
access to education or job training. Only daughters of nobles or wealthier members of the third estate
could study at a convent, after which their families arranged a marriage for them. Working women
had also to care for their families, that is, cook, and fetch water, queue up for bread and look after
the children. Their wages were lower than those of men.

Source C : A Directory Rules France
The fall of the Jacobin government allowed the wealthier middle classes to seize power. A new
constitution was introduced which denied the vote to non-propertied sections of society. It provided
for two elected legislative councils. These then appointed a Directory. This was meant as a safeguard
against the concentration of power in a one-man executive as under the Jacobins. However, the
Directors often clashed with the legislative councils, who then sought to dismiss them. The political
instability of the Directory paved the way for the rise of a military dictator, Napoleon Bonaparie.

Questions:
Q.10.i  Source A: Which ports gained from the slave trade?
Q.10.ii Source B: What kind of discrimination was faced by women?
Q.10.iii Source C: What is Directory?

Q.11. Describe the legacy of the French Revolution for the peoples of the world during the nineteenth

and twentieth centuries. (3)
Q.12 What is a Constitution? Mention any two features of constitution. (1+2=3)
Q.13 Why do we need a constitution? 3)
Q.14 What do you mean by “Directory Rules France™? (5)
OR
What do you mean by “The Reign of Terror”? Explain.

Q.15 Why was the making of the Indian Constitution not an easy affair? (5
Q.16 Write any five arguments against democracy as a form of government. &)
OR

Write any five arguments in favour of democracy.

Q.17 Two countries A & B have been marked on the outline map of France. Identify & write correct
names on the line drawn near them. (1x2=2)
(A) (B)
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Q.21
‘ Q.22

Q23

Q.24

SECTION : B - GEOGRAPHY (20 MARKS)
Multiple Choice Questions:

Q.18
Q.19
Q.20

The Trpoic of Cancer passes through which of the following north-eastern states of India. 1)
(a) Assam  (b) Nagaland . (c) Meghalaya (d) Mizoram o
Which meridian is fixed as the Standard Meridian of India? : ‘ (1)
(a) 82°5° East  (b) 845’ East  (c) 82°30’ East  (d) 82°30° West
Majuli is a riverine island in the river : g (1)
OR
The longitudinal valley lying between Lesser Himalayas and the ' are known
~as Doons. . |
At present there are how many States in India ? , (1)
" (a) 26 - (b) 27 (c) 28 (d) None of these.
Choose the correctly matched pair. ' 1)
‘Name of the Himalayas Boundaries by river valleys :
a.  Kumaon Himalayas Between Satluj & Kali
b.  Nepal Himalayas Between Dhiang & Teesta
c Assam Himalayas Between Kali & Teesta
d. Punjab Himalayas - Between Jhelum & Satlyj
The central location of India at the head of the Indian ocean is cons1dered of great significance.
Why? Write three relevant points, : 3)
Read the text given below and answer the following questions. (1x4=4)

India is a vast country with an area of 3.28 million square k.m. It shares land boundary of

15,200 km with seven countries of the world. The total length of the coastline of the mainland
including Andaman & Nicobar and Lakshadweep is 7516.6 km. The land of India dlsplays great
physical variation. The Himalayas and the Northern Plains are the most recent landforms. The
Northern Plains are formed of alluvial deposits. The Peninsular Plateau is composed of igneous
and metamorphic rocks and constitutes one of the ancient landmasses of the earth. The Deccan
Plateau is a triangular landform. The part lying to the north of the Narmada river is central
highlands. Each physiographic region including the coastal plains and the two island groups
complements the other and makes the country richer in its natural resources. Thus, the dlverse
physical features of the land have immense future possibilities of development.

Answer the followmg MCQs by choosing the most appropriate option.
Q.24.i What is the total length of the coastline of India? ‘
(@) 15,200 km. (b) 7,516.6 km. (c) 7,615.6 km. (d) 7,156.6 km.
Q.24.ii = The Himalayas are which type of mountains?
(a) Old fold mountains (b) Block mountains
(¢) Young fold mountains (d) None of these.
| Contd...4



Sy 2

Q.24.iii The Peninsular Plateau consists of how many broad divisions?
(a) Three (b) Two (¢c) Four (d) None of these.

Q.24.iv  The total area of India accounts for about how much percent of the world’s total
geographical area?
@ 21% (b)) 22% (©) 23% (d) 2.4 %
Q.25 Explain the Andaman & Nicobar group of islands under the following heads: (1+1+1+1+1=5)
(a) Location (b) Origin (¢) Climate (d) Flora & Fauna
(e) Any one characteristic feature other than the above.

‘ OR
Give a brief account of the coastal plains of India. Write five relevant points to support your
answer.

Q.26 On Political Outline Map of India locate & label any three of the following: (1x3=3)
- (@) K2 (b) The Aravali (c) Capital of Chhattisgarh (d) Malwa Platea (e) Anai Mudi

SECTION : C - ECONOMICS (20 MARKS)

Choose the correct option :-

Q.27 Which of the following is not fixed capital? _ 1)
‘(a) Agricultural Land  (b) Tube well (¢) Fertilizer and pesticide(d)Farm Machiner
Q.28 Infant Mortality Rate refers to death of a child under : (1)
- (a) Two year (b) One year (c) Three year(d) Four year.
Q.29 The major aim of Sarva Siksha Abhiyan is : 1)

(a) To provide elementary education to women

(b) To provide elementary education to the rural poor

(¢) To provide elementary education to all children in the age group of 6-14 years
(d) To provide elementary education to the urban poor.

In the questions given below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements and choose the correct option:

Q.30 Assertion (A) : Most of the houses in Palampur have electricity connections, tube wells are run in
~ fields and also small business run through electricity. (1)
~ Reason ( R ) : Palampur has fairly well developed system of electricity.
(a) Both ( A ) and ( R) are true and ( R ) is the correct explanation of (A).
(b) Both ( A ) and ( R ) are true but ( R ) is not the correct explanation of ( A).
() (A)is true but (R ) is false.
(d) (A)is false but ( R ) is true.
Q.31 Assertion (A) : A healthy person becomes an asset to the country. ; 1)
Reason ( R ) : Health increases a persons’ potential and ability to work.
(a) Both ( A ) and (R ) are true and ( R ) is the correct explanation of (A).
(b) Both ( A ) and ( R ) are true but ( R ) is not the correct explanation of ( A).
(c¢) (A)is true but (R ) is false.
(d) ( A)is false but ( R ) is true.

Q.32 How did the spread of electricity help farmers in Palampur? 3)

Q.33 Differentiate between Economic and Non Economic activity. (3)
' OR

~ Explain the term Physical Capital. Mention its different types with examples. (1+2)

Q.34 Read the text given below and answer the following questions : (1+1+1+1)

Kishore is a farm labourer. Like other such labourers , Kishore found it difficult to meet his
family’s needs from the wages that he received. A few years back Kishore took a loan from the
bank. This was under a government programme which was giving cheap loans to poor landless
households. Kishore bought a buffalo with his money. He now sells the buffalo’s milk. Further he
has attached a wooden cart to his buffalo and uses it to transport various items. Once a week, he
goes to the river Ganga to bring back clay for the potter. Or sometimes he goes to Shahpur with a
load of jaggery or other commodities. Every month he gets some work in transport. As a result,
Kishore is able to earn more than what he used to do some years back.

Q.34.i. = What is Kishore’s fixed capital?

Q.34.ii What would be his working capital?

Q.34.iii = In how many production activities is Kishore involved?

Q.34iv Do you think Kishore has benefitted from better roads in Palampur? If yes, how?

Q.35 What is Green Revolution? Write its two merits and two demerits. | (1+2+2)
OR. '
({) What is meant by human capital formation? (1+2+2)

(ii) How is human resource different from other resources like Land and Physical capital ?
(iif) What is the role of education in human capital formation?
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DELHI PUBLIC SCHOOL, BHILAI

DATE :‘27_.09 2021 MID TERM EXAMINATION (2021-22) Time : 3 Hours
- CLASS : IX SUBIJECT : MATHEMATICS Max. Marks : 80

General Instructions: ‘
01. This question paper contains two parts A & B.
02. Both part A and part B have internal choices. -

PART - A _ = '

" 01. TItconsists of two sections I and IL.
02. Section I has 16 questions of 1 mark each. Internal choice is provided in 5 questions.
03. Section II has 4 questions on case study. Each case study has 5 case based sub-parts.
- An examinee has to attempt any 4 out of 5 sub-parts. '

PART - B " :
01. Question numbers 21 to 26 are very short answer type questions of 2 marks each.
02. Question numbers 27 to 33 are short answer type questions of 3 marks each.
03. Question numbers 34 to 36 arc long answer type questions of 5 marks each.
04. Internal choice is provided in 2 questions of 2 marks, 2 questions of 3 marks and 1

question of 5 marks. ;

PART-A
SECTION -1
section | has 16 questions of 1 mark each. internal choice is provided in 5 questions.

01. If one angle of a triangle is equal to the sum of other two angles, then what is the type of
| triangle formed ? ' :
02.  Find two irrational numbers between V2 and V3 .
OR

; . 2 5
Find two rational numbers between - and T

03. Two lines AB and CD intersect at point 0 such that £BOC + 2AOD = 280° as shown in
figure. Find all the four angles.

04. Express 0.3 in the form of p/a. where p and q aré integersand g # o0 .
-~ OR

What kind of decimal expansion does % have 7

05. Inthe given figure, state which lines are parallel and why ?
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06.

07.

08.

09.

10.

11.
12.
13.

14.
15.

16.

17.

ph e
In the given figure, ABCD is a rectangle and A DEC is an equilateral A. Find the area of

ADEC.
g
A\ /’j.' Lgon
In AABC, AB = AC and 4B is equal to two-fifth of 4. Find the measure of LA.

OR
A biscuit is in the form of a quadrilateral as shown in figure. Anuj gives I part to his sister
and 11 part to his brother. In quadrilateral ACBD, AC=AD and AB bisects £A. Isthe
distribution fair? Justify your answer.

o .: : :
1 ///; ; b
i (g
Gt
Wi e

If the non-common arms of two adjacent angles are two opposite rays, then what is the
name of the pair of angles formed?
What kind of solution/solutions does the linear equation 3x — 5y = 15 have?
. OR
What is the general form of a point lying on Y —axis ?

The base and the corresponding altitude of a parallelogram are 10 cm and 3.5cm
respectively. Find the area of the parallelogram.

Each side of an equilateral triangle is 8 cm. Find the area of the triangle.
Find the angle whose complement is one third of its supplement.

An exterior angle is drawn to a triangle. If this exterior angle is acute, then what type of
triangle is formed? '

If the point (3, 4) lies on the graph of 3y = ax + 7, then find the value of a.

Find the length of each side of an equilateral triangle having an area of 93 cm’.
‘ OR
For an isosceles triangle having base b and each of equal sides a, find its perimeter.

If hypotenuse and one side of a right angled triangle are respectively equal to the
hypotenuse and one side of another triangle, then by which congruence rule are the two
triangles congruent?
SECTION —1i

Case study based questions are compulsory. Attempt any four sub-parts of each question.
Each sub part carries 1 mark. /

CASE STUDY -1
Students of a school staged a really for cleanliness campaign. They walked through the
lanes of a ground ABCD in two groups. One group walked through the lanes AB, BC and CA,
while the other group through AC, CD and DA as shown in figure. Then they cleaned the
area enclosed within their lanes. If AB=26 m, BC=27 m, CD=7 m, DA=24 m and 2D = 90°
then answer the following questions: R i
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18

19

g
(i) What is the area cleaned by the first group ?

(a) 78 m® (b) 78 V14 m? (c) 196 m® (d) None of these
(i)  What is the area cleaned by the second group ? .
(a) 84 m? (b) V84 m? (c) 196 m* (d) None of these

(iii) Total area of the quadrilateral ABCD is

(a} 7814 +196  (b) 7814 +84 (c) 274m>  (d) None of these
(iv)  Whatis the perimeter of the ground ABCD ?

(a) 109 m (b) 156 m (c) 84 m (d) None of these
(v) Which group cleaned more area and by how much ?

(a) First group, 71 V14 m? (b) Second group, 98 — 7814 m?
(c) First group, 78V14 — 98 m? (d) None of these

Daisy conducts an activity in her Mathematics class to teach number system in a play way
method. She writes some random numbers on small chits and drops those chits into a box.
Then she asks her students to come one by one and pick up a chit out of the box.
(i) Gloriyana picks up a chit with numbers written as 0, 10, -20. What are these numbers?

(a) Natural numbers (b) Whole numbers (c) Integers (d) None of these
(ii) The chit chosen by Salim has numbers written as written as V2 ,v/51, —5.323223222..

What kind of numbers has he chosesn ?

(a) Rational numbers (b) Irrational numbers (c) Real numbers (d) Both b and ¢
(iif) Rahulis instructed to pick up a chit with only rational numbers. Which of the following

numbers must be written on his chit?

(a) 0, “?2 , 3.7 (b) 3,-5, \/—15 (c) 23/2,2,22  (d) All of the above

(iv) Harmeet picks a chit with numbers written onitas 2 + V5, 3.75, -1/7, O
What are these numbers?

(a) Rational numbers (b) Irrational numbers (c) Real numbers (d) None of these

(v) Atthe end of the activity, one question was given for the whole class : What is the sum
of a rational and an irrational number?
(a) Always rational (b) Always irrational
{c) Sometimes rational & sometimes irrational (d) None
CASE STUDY -3

A farmer decides to grow rice, wheat & pulses on his field shaped like an isosceles
trapezium with AB=25 m, BC=DA=5m, CD=19 m. He draws perpendiculars DE & CF on AB
and joins CE & DF to divide his field into different triangular regions.

e e

i

(i) In which pairs of equal triangular areas should be grow the crops?
(a) Pulsesin ADOC & FOE, wheatin ADOE & FOC and rice in AADE & ABCF.
(b) Pulsesin AADE & ADOE, wheat in AFOE & ABCF, ricein ADOC & A FOC
(c) Pulsesin ADOE & DOC, wheatin AFOE & AFOC, rice in ADOC & A FOE.
(d) None of the above.
(ii)  Which pairs of triangles are congruent?
(@) ADOE and ADOC (b) AFOE and AFOC
(c) ADCE and AFEC (d) All of the above
(iii} According to which Congruence rule AADE = ABCF ?
(a) SSS (b) SAS (c) RHS (d) None of these
(iv) What is the height of the trapezium ?
(a) 2m (b} V34m (c) 3.5m (d) 4m
(v} Whatis the area of ADEC ?
(a) 76 m*  (b) 38m? (c)44m®  (d) 88 m?
Contd...4
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| CASE STUDY - 4
20. The Municipal Corporation of a city planned to design a park for the children in the shape
of a quadrilateral as shown in the figure. lts length and breadth are 7 units and 4 units

respectively, one vertex is at the origin, the longer side lies on X — axis and one of the
vertices lies in the Il quadrant

(i) Which figure represents the park? |
~ (a)y DoABC  (b) ODOEDC (c) LJOEFG (d) LIOGHA
(i) What type of quadrilateral is the field ?
(a)} Square (b) Rectangle - (c) Parallelogram (d) None of these
(i)  What is the coordinate of the vertex of the péi’k d}agonalllv opposite to the origin?
(@ (=7,-4) (b) (7,—4) (o) (7.4) (d) (=4,-7) |
(iv)  What are the coordinates of the vertices of the park lying on the coordinate axes ?
(a) (=7,0),(0,—4) (b) (—4,0),(0,=7)
(b) (7,0),(4,0) (b) (0,7),(0,4)
(v)  Whatis the area of the park ? : ‘ _ :
(a) 56 sqg. units (b) 11 sqg. units (c) 28 sq.units  {d) None of these

| | | ~ PART-B
All questions are compulsory. In case of internal choices, attempt any one.
21. ' ' '

AB is a line segment and P is its midpoint. D and E are points on the same side of AD such
that £BAD = 2ABE and £EPA = +DPB. Show that ADAP = AEBP.
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22, Givethe equations of two lines passing through a point (3, 7).
| 23, N
"’
In AABC, D is the mid point of BC. If DL L AB and DM 1 AC such that DL=DM, then prove
that AB = AC.
| 24,
|
|
!
:
%
i In the above figure if PQ || ST, ZPQR = 110° and 2RST = 130°, find £QRS.
. ol
Renp Tl 7
In the above figure, £X = 62°, £XYZ = 54°, If YO and ZO are the bisectors of
2XYZ and £XZY respectively of A XYZ, find 20ZY.
26.  Evaluate: (B2)M5 4 (=7 + (64)V/2

OR

64 \"2/3
{2
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27.

28.

29,

30

31
32,

33.
34.

25,

36.

=By ¢
The side QR of APQR is produced to a pointh. If the bisectors of ZPQR and LPRS meet
4t point T. then prove that QTR = ~ZQPR .

In the above figure, ray OS stands on a line POQ.' Ray OR and ray OT are angle bisectors of
2POS and 2500 respectively. If ZPOS = x, find ZROT.

AABC is an isosceles triangle in which AB=AC. Side BA is produced to D such that AD=AB.
Show that £BCD is a right angle.

OR

In right triangle A'BC, right angled at C, M is the midpoint of hypotenuse AB. Cis joined to
M and produced to a point D such that DM=CM. Point D is joined to B. Show that ZDBC is

Ak

a right angle.

If a transversal intersects two lines such that the bisectors of a pair of interior alternate
angles are parallel, then prove that the two lines are parallel.
Give the geometric representation of 2x + 7 = 0 as an equation in two variables.

Represent /5 on a number line (No steps of construction) '
Perimeter of a rhombus shaped field is 400 m and one of its diagonal is 160 . What is the

area of the field?
Prove that the angles opposite to equal sides of a triangle are equal.
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OR
' 1 2 |
Prove that : 2+\/§+ \{S—ﬁ+ T 0

Find the area of a trapezium whose parallel sides are 55 cm and 40 cm and non parallel

sides are 20 cm and 25 cm.
Draw the graph for x — y = 2 and shade the area enclosed by the coordinate axes & the
graph obtained.
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